MasteringChemistry: Homework #4 9/23/19, 11:34 AM

Exercise 3.68 - Enhanced - with Feedback

MISSED THIS? Read Section 3.8 (Pages 111 - 113) ; Watch IWE 3.13. =
Calculate the mass (in grams) of each sample. Jweol = 6.0 ZZHOzg
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7.3x1025 O3 molecules s

Express your answer to two significant figures and include the appropriate units. é )(O = g% 6.00
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Part B

6.93x10"% CCl,Fy molecules
Express your answer to three significant figures and include the appropriate units.
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Part C
3 water molecule(s)

Express your answer to four significant figures and include the appropriate units.
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Q: CH‘-& + 20, — (O, + 2H,0 .
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